
MATHS

BOOKS - TARGET MATHS (HINGLISH)

PAIR OF STRAIGHT LINES

Classical Thinking

1. The joint equation of pair of lines having slopes 1 and

3 and passing through the origin is

A. 

B. 

4x2 − 3x − y2 = 0

3x2 − 4xy + y2 = 0

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_tm4gWgmBJvD2


C. 

D. 

Answer: B

Watch Video Solution

3x2 − 4xy − y2 = 0

3x2 = y2

2. The equation of the lines passing through the origin

and having slopes 3 and  is

A. 

B. 

C. 

D. 

1

3

3y2 + 8xy − 3x2 = 0

3x2 − 10xy + 3y2 = 0

3y2 − 8xy + 3x2 = 0

3x2 + 8xy + 3y2 = 0

https://dl.doubtnut.com/l/_tm4gWgmBJvD2
https://dl.doubtnut.com/l/_Q8btQnIyCCLr


Answer: B

Watch Video Solution

3. The combined equation of the lines passing through

the origin and having slopes 2 and  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

−
1

2

2x2 + 3x − 2y2 = 0

2x2 − 3xy + 2y2 = 0

3x2 − 2xy − 2y2 = 0

2x2 − 3xy − 2y2 = 0

https://dl.doubtnut.com/l/_Q8btQnIyCCLr
https://dl.doubtnut.com/l/_44XSs9FLdOhK


4. Separate equations of lines for a pair of lines whose

equation is  are

A.  and 

B.  and 

C.  and 

D.  and 

Answer: D

Watch Video Solution

x2 + xy − 12y2 = 0

x + 4y = 0 x + 3y = 0

2x − 3y = 0 x − 4y = 0

x − 6y = 0 x − 3y = 0

x + 4y = 0 x − 3y = 0

https://dl.doubtnut.com/l/_44XSs9FLdOhK
https://dl.doubtnut.com/l/_ruJZKjKPAJQA


5. The equation  represents

A. two parallel lines

B. two perpendicular lines

C. two lines through the origin

D. a circle

Answer: C

Watch Video Solution

4x2 − 24xy + 11y2 = 0

6. The separate equations of the lines represented by

 are3x2 − 10xy − 8y2 = 0

https://dl.doubtnut.com/l/_8hMN48bMiiuW
https://dl.doubtnut.com/l/_RbvVpUJ8Jz6a


A.  and 

B.  and 

C.  and 

D.  and 

Answer: A

Watch Video Solution

3x + 2y = 0 x − 4y = 0

2x + 2y = 0 2x − y = 0

−2x + 3y = 0 −2x − 2y = 0

−3x + 2y = 0 x + 2y = 0

7. Separate equations of lines  are

A. 

B. 

C. 

6x2 − 5xy + y2 = 0

3x − y = 0, 2x − y = 0

3x + y = 0, 2x − y = 0

3x − y = 0, 2x + y = 0

https://dl.doubtnut.com/l/_RbvVpUJ8Jz6a
https://dl.doubtnut.com/l/_eITbLMcfcA7g


D. 

Answer: A

Watch Video Solution

3x + y = 0, 2x + y = 0

8. Joint equation of two lines, through , parallel

to two lines  is

A. 

B. 

(x1, y1)

ax2 + 2hxy + by2 = 0

a(y − y1)2 + 2h(x − x1)(y − y1) + b(x − x1)2 = 0

a(y − y1)2 − 2h(x − x1)(y − y1) + b(x − x1)2 = 0

https://dl.doubtnut.com/l/_eITbLMcfcA7g
https://dl.doubtnut.com/l/_KmOTMhxKg1zQ


C. 

D. 

Answer: C

Watch Video Solution

b(y − y1)2 + 2h(x − x1)(y − y1) + a(x − x1)2 = 0

ax2
1 + 2hx1y1 + by2

1 = 0

9. Equation of pair of lines passing through (3,4) and

parallel to lines 

A. 

B. 

C. 

x2 − y2 = 0

x2 − y2 − 6x + 8y − 9 = 0

x2 − y2 − 6x + 8y − 7 = 0

x2 − y2 − 4x + 8y − 1 = 0

https://dl.doubtnut.com/l/_KmOTMhxKg1zQ
https://dl.doubtnut.com/l/_Fl6TW2lSTTD5


D. 

Answer: B

Watch Video Solution

x2 − y2 − 6x + 7y − 11 = 0

10. The combined equation of the pair of lines through

the origin and perpendicular to the pair of lines given

by , is

A. 

B. 

C. 

D. 

ax2 + 2hxy + by2 = 0

ax2 − 2hxy + by2 = 0

bx2 + 2hxy + ay2 = 0

ay2 − 2hxy + bx2 = 0

ay2 − bx2 = 0

https://dl.doubtnut.com/l/_Fl6TW2lSTTD5
https://dl.doubtnut.com/l/_cgUtcVq8Qnl0


Answer: C

Watch Video Solution

11. Fouation of the pair of straight lines through origin

and perpendicular to the pair of straight lines

 is

A. 

B. 

C. 

D. 

Answer: A

5x2 − 7xy − 3y2 = 0

3x2 − 7xy − 5y2 = 0

3x2 + 7xy − 5y2 = 0

3x2 − 7xy + 5y2 = 0

3x2 + 7xy + 5y2 = 0

https://dl.doubtnut.com/l/_cgUtcVq8Qnl0
https://dl.doubtnut.com/l/_ArXys6GeXgFI


Watch Video Solution

12. The sum of the slopes of the lines represented by

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 − xy − 6y2 = 0

−1

6

−6

6

1

6

https://dl.doubtnut.com/l/_ArXys6GeXgFI
https://dl.doubtnut.com/l/_8VjhlP0jVFll
https://dl.doubtnut.com/l/_8lPEG5BTIjW1


13. If the slope of one line of the pair of lines

represented by  is four times the

slope of the other line, then 

A. 1

B. 2

C. 4

D. 16

Answer: D

Watch Video Solution

ax2 + 10xy + y2 = 0

a =

https://dl.doubtnut.com/l/_8lPEG5BTIjW1


14. If the slope of one line in the pair

 is three times the other, then a =

A. 1

B. 2

C. 3

D. 4

Answer: C

Watch Video Solution

ax2 + 4xy + y2 = 0

https://dl.doubtnut.com/l/_8gchFXFB56PO


15. If the slope of one of the lines represented by

 be reciprocal of the

slope of the other, then the slope of the lines are

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ax2 + (3a + 1)xy + 3y2 = 0

,
3

2

2

3

,
1

2

2

1

, 3
1

3

, − 3
−1

3

https://dl.doubtnut.com/l/_JxFZHURJN0ej


16. If the lines represented by the equation

 make angles  and  with X-

axis, then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

6x2 + 41xy − 7y2 = 0 α β

tan α. tan β =

−
6

7

6

7

7
6

−
7
6

https://dl.doubtnut.com/l/_qoRt5WhcxHL1


17. The acute angle between the lines represented by

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

6x2 − xy − y2 = 0

45∘

30∘

60∘

90∘

https://dl.doubtnut.com/l/_we9lR8l2lm5j


18. The angle between the lines represented by

 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

√3xy − y2 = 0

30∘

45∘

60∘

90∘

https://dl.doubtnut.com/l/_EKUUopBrVSD6


19. The acute angle between the lines represented by

the equation  are

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

11y2 − 24xy + 4x2 = 0

tan− 1 3

2

tan− 1 4
3

tan− 1 4
5

tan− 1 1

3

20. Angle between the lines  is2x2 − 3xy + y2 = 0

https://dl.doubtnut.com/l/_lVapZokn0j86
https://dl.doubtnut.com/l/_PVZNUFs4GQSA


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

tan− 1(√3)

cot − 1(√3)

cot − 1(3)

tan− 1( )
1

√3

21. If the angle  is acute, then the acute angle between

is

A. 

θ

x2(cos θ − sin θ) + 2xy cos θ + y2(cos θ + sin θ) = 0,

2θ

https://dl.doubtnut.com/l/_PVZNUFs4GQSA
https://dl.doubtnut.com/l/_ud0e9sqjTvdo


B. 

C. 

D. 

Answer: C

Watch Video Solution

θ

3

θ

θ

2

22. If the acute angle between the lines

 is  then 

A. 

B. 

C. 

x2 − 4hxy + 3y2 = 0 60∘ h =

±
√5

2

±
√10

2

±
√15

2

https://dl.doubtnut.com/l/_ud0e9sqjTvdo
https://dl.doubtnut.com/l/_SRDKre9pTngx


D. 

Answer: C

Watch Video Solution

1

23. If  represents a pair of lines,

making an angle  with each other, then 

A. 3

B. 9

C. 27

D. 81

3x2 + 18xy + by2 = 0

π b =

https://dl.doubtnut.com/l/_SRDKre9pTngx
https://dl.doubtnut.com/l/_GDX3xheAKbJY


Answer: C

Watch Video Solution

24. The angle between the pair of straight lines

 is , where 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3x2 + 10xy + 8y2 = 0 tan− 1(p) p =

−5

11

−3

11

2

11

8

11

https://dl.doubtnut.com/l/_GDX3xheAKbJY
https://dl.doubtnut.com/l/_8zLTs55CnvBs


25. The equation  


represents a pair of straight lines passing through the

origin. The two lines are

A. real and distinct if .

B. real and distinct if .

C. real and coincident if 

D. real and coincident if .

Answer: D

Watch Video Solution

3x2 + 2hxy + 3y2 = 0

h2 > 3

h2 ≥ 9

h2 > 3

h2 ≥ 3

https://dl.doubtnut.com/l/_8zLTs55CnvBs
https://dl.doubtnut.com/l/_fA5iQfyssmYj
https://dl.doubtnut.com/l/_6tWqeekJyqKy


26. The straight lines represented by the equation

 are

A. coincedent

B. perpendicular

C. interset at 

D. inclined at an angle of 

Answer: A

Watch Video Solution

9x2 − 12xy + 4y2 = 0

60∘

45∘

27. Which of the following equations represents a pair

of real and coincident straight lines?

https://dl.doubtnut.com/l/_6tWqeekJyqKy
https://dl.doubtnut.com/l/_xOeOJVWT2r3c


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

4x2 − 4xy + y2 = 0

4x2 + 4xy − y2 = 11

−x2 + xy − y2 = 1

3x2 + 3y2 = 4

28.  represents pair of parallel

straight lines, if  is

A. 

B. 

6x2 + hxy + 12y2 = 0

h

±6√2

±√2

https://dl.doubtnut.com/l/_xOeOJVWT2r3c
https://dl.doubtnut.com/l/_E8vCUw1n0Qfr


C. 

D. 

Answer: C

Watch Video Solution

±12√2

±√6

29. If the equation  represent

coincident lines, then h is equal to

A. 

B. 

C. 

D. 

4x2 + hxy + y2 = 0

±2

±4

±1

0

https://dl.doubtnut.com/l/_E8vCUw1n0Qfr
https://dl.doubtnut.com/l/_3WkQ22jgHo9Z


Answer: B

Watch Video Solution

30. Two lines represented by equation

 are

A. coincident

B. parallel

C. mutually perpendicular

D. imaginary

Answer: D

Watch Video Solution

x2 + xy + y2 = 0

https://dl.doubtnut.com/l/_3WkQ22jgHo9Z
https://dl.doubtnut.com/l/_cyPJnqX7UV1D


31. The angle between the lines given by the equation

 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

λy2 + (1 − λ2)xy − λx2 = 0

45∘

60∘

90∘

15∘

https://dl.doubtnut.com/l/_cyPJnqX7UV1D
https://dl.doubtnut.com/l/_qzES7ZzcXYMx


32. Angle between the pair of lines  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

xy = 0

30∘

45∘

90∘

60∘

33. Pair of straight lines perpendicular to each other

are represented by

https://dl.doubtnut.com/l/_apS8hohCj162
https://dl.doubtnut.com/l/_TUiqttGhNSWr


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2x2 = 2y(2x + y)

x2 + y2 + 3 = 0

2x2 = y(2x + y)

x2 = 2(x − y)

34. The equation  represents

A. circle

B. pair of parallel straight lines

C. pair of perpendicular straight lines

x2 − 7xy − y2 = 0

https://dl.doubtnut.com/l/_TUiqttGhNSWr
https://dl.doubtnut.com/l/_1be82r4qWl8W


D. pair of non-perpendicular straight lines

Answer: C

Watch Video Solution

35. If the lines represented by 

are perpendicular to eachother then 

A. 1

B. -2

C. -3

D. 0

3y2 + 9xy + kx2 = 0

k =

https://dl.doubtnut.com/l/_1be82r4qWl8W
https://dl.doubtnut.com/l/_boMMDCRMhUU3


Answer: C

Watch Video Solution

36. If lines  are mutually

perpendicular then

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

a2x2 + bcy2 = a(b + c)xy

c2 + ab = 0

b2 + ca = 0

a2 + bc = 0

a2 + b2 + c2 = 0

https://dl.doubtnut.com/l/_boMMDCRMhUU3
https://dl.doubtnut.com/l/_6ayU2lSzVBz7


37. Which of the following represents pair of lines?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2x2 + 3xy − 2y2 + 5x + 5y + 3 = 0

2x2 − 2y2 + 5x + 5y + 3 = 0

2x2 + 5xy − 2y2 + 5x + 5y + 3 = 0

2x2 + 3xy − 4y2 + 5x + 5y + 3 = 0

https://dl.doubtnut.com/l/_6ayU2lSzVBz7
https://dl.doubtnut.com/l/_4ChobkAvaC6B


38. For which value of

 represents a pair of

straight lines

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

' p' , y2 + xy + px2 − x − 2y = 0

2

1

3

1

4

1

2

https://dl.doubtnut.com/l/_iJEZbQ36uixG


39. If 

represents a pair of straight lines , then k is equal to.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

6x2 + 11xy − 10y2 + x + 31y + k = 0

−15

6

−10

−4

https://dl.doubtnut.com/l/_yRFAwqvwuLuR


40. The value of  for which the equation

 represent a pair of straight

line, are

A. 3,-3

B. 

C. 

D. 

Answer: A

Watch Video Solution

λ

x2 − y2 − x − λy − 2 = 0

−3, 1

3, 1

−1, 1

https://dl.doubtnut.com/l/_PdLsj85Mlv4Y


41. The value of h for which the equation

 represents

a pair of straight lines , are

A. 4,4

B. 4,6

C. 4,-4

D. 0,4

Answer: A

Watch Video Solution

3x2 + 2hxy − 3y2 − 40x + 30y − 75 = 0

https://dl.doubtnut.com/l/_qOTXTPFau6tz


42. The equation of the perpendiculars drawn from the

origin to the lines represented by the equation

, is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2x2 − 10xy + 12y2 + 5x − 16y − 3 = 0

6x2 + 5xy + y2 = 0

6y2 + 5xy + x2 = 0

6x2 − 5xy + y2 = 0

6x2 − xy − y2 = 0

https://dl.doubtnut.com/l/_iRGVppCVAP4x


43. The point of intersection of the lines

 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2x2 − 5xy + 3y2 + 8x − 9y + 6 = 0

( − 3, 4)

(3, − 5)

(3, 4)

( − 3, − 5)

https://dl.doubtnut.com/l/_mbBpcxvKNy3b


44. The point of intersection of lines gives by the

equation  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3x2 + 10xy + 3y2 − 15x − 21y + 18 = 0

( , )
13

8

3

8

( , )
3

8

15

8

( , )
15

8

3

8

( , )
3

8

13

8

https://dl.doubtnut.com/l/_ZgKnaN5IHueU


45. The equation

 represents a

pair of lines, then the angle between them is ..............?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

6x2 − xy − 12y2 − 8x + 29y − 14 = 0

tan− 1( )
17
6

tan− 1( )
3

4

π

4

π

3

https://dl.doubtnut.com/l/_VcvmqNquyLgX


46. The lines represented by the equation

 are

A. Perpendicular to each other

B. Parallel

C. Inclined at  to each other

D. Inclined at  to each other

Answer: B

Watch Video Solution

x2 + 2√3xy + 3y2 − 3x − 3√3y − 4 = 0

45∘

60∘

https://dl.doubtnut.com/l/_HJjigD0tihyf


47. If equation  


represents parallel lines, then p is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

4x2 + 2pxy + 25y2 + 2x + 5y − 1 = 0

−10

10

5

−2

https://dl.doubtnut.com/l/_jcq9ywm2EMn0


48. Angle between straight lines given by

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3y2 − 8xy − 3x2 − 29x + 3y − 18 = 0

π

2

π

3

π

4

π

6

https://dl.doubtnut.com/l/_cBvCuEj3dk4K


49. The angle between the pair of straight lines

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 − y2 − 2y − 1 = 0

90∘

60∘

45∘

0∘

https://dl.doubtnut.com/l/_1qeoI7CKs0dR


50. Measure of angle between the lines 

is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3xy − 4y = 0

30∘

60∘

90∘

120∘

https://dl.doubtnut.com/l/_I7KKR3AKizs1


51. If the equation

 represents a

pair of parallel lines, then

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

px2 − 8xy + 3y2 + 14x + 2y + q = 0

p = 2, q = 3

p = − 3, q = 2

p = − 3, q = − 8

p = 3, q = 2

https://dl.doubtnut.com/l/_GZkVsiIwxOoq


Critical Thinking

52. If 

represents a pair of perpendicular lines, then 

A. 1

B. 4

C. 2

D. 3

Answer: B

Watch Video Solution

ax2 + 6xy + 3y2 − 10x + 10y − 6 = 0

|a| =

https://dl.doubtnut.com/l/_pUwiE5TqvIse
https://dl.doubtnut.com/l/_JYCmO2XXrPis


1. The joint equation of pair of lines passing through

the origin and parallel to the lines

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y = m1x + c1 and y = m2x + c2

m1m2x2 − (m1 + m2)xy + y2 = 0

m1m2x2 + (m1 + m2)xy + y2 = 0

m1m2y2 − (m1 + m2)xy + x2 = 0

m1m2y2 + (m1 + m2) + x2 = 0

https://dl.doubtnut.com/l/_JYCmO2XXrPis


2. The combined equation of the lines which pass

through the origin and eahc of which makes an angle

of  with the line  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

30∘ 2x − y = 0

11x2 + 16xy − y2 = 0

11x2 + 16xy + y2 = 0

11x2 − 16xy + y2 = 0

11x2 − 16xy − y2 = 0

https://dl.doubtnut.com/l/_HAiCusuGC69I


3. The equation of the lines through the origin which

form two of the sides of the equilateral triangle having

 as the third side is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x = 2

3y2 + x2 = 0

y2 + 3x2 = 0

3y2 − x2 = 0

y2 − 3x2 = 0

https://dl.doubtnut.com/l/_cQeGJDQFwe9w


4. Combined equation of the two lines passing through

the origin, forming an equilateral triangle with the line

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x + y + √3 = 0

x2 + 4xy − y2 = 0

x2 − 4x + y2 = 0

x2 − 4xy + 2y2 = 0

x2 + 4xy + 2y2 = 0

https://dl.doubtnut.com/l/_kLVSGTEVjabA


5. The equations of the lines represented by the

equation  are

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ax2 + (a + b)xy + by2 + x + y = 0

ax + by + 1 = 0, x + y = 0

ax + by − 1 = 0, x + y = 0

ax + by + 1 = 0, x − y = 0

ay + bx + 1 = 0, x + y = 0

https://dl.doubtnut.com/l/_IrS6uzVFhYuz


6. The equation of one of the lines represented by the

equation , is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

pq(x2 − y2) + (p2 − q2)xy = 0

px − qy = 0

px + qy = 0

p2x + q2y = 0

q2x − p2y = 0

https://dl.doubtnut.com/l/_6Kl7sxq8LNXQ


7. One of the lines represented by the equation

 is

A. Parallel to x-axis

B. Paralle to Y-axis

C. X-axis

D. Y-axis

Answer: D

Watch Video Solution

x2 + 6xy = 0

8. The equation , representsy2 − x2 + 2x − 1 = 0

https://dl.doubtnut.com/l/_22unFlrwU1f5
https://dl.doubtnut.com/l/_20qJUXUHJnuC


A. hyperbola

B. an ellipse

C. a pair of straight line

D. a rectangular hyperbola

Answer: C

Watch Video Solution

9. The equation

represents

A. A circle

(x − 5)2 + (x − 5)(y − 6) − 2(y − 6)2 = 0

https://dl.doubtnut.com/l/_20qJUXUHJnuC
https://dl.doubtnut.com/l/_SzV5cksr4ykv


B. Two straight lines passing through origin

C. Two straight lines passing through the point (5,6)

D. An ellipse

Answer: C

Watch Video Solution

10. The point of intersection of the lines represented by

equation 

 is

A. (2,2)

B. 

2(x + 2)2 + 3(x + 2)(y − 2) − 2(y − 2)2 = 0

( − 2, − 2)

https://dl.doubtnut.com/l/_SzV5cksr4ykv
https://dl.doubtnut.com/l/_bTAxdyddEhbp


C. 

D. 

Answer: C

View Text Solution

( − 2, 2)

(2, − 2)

11.  represents a pair of straight

lines for

A.  only

B.  or  only

C.  only

D. all real values of a.

a(x2 − y2) + xy = 0

a = 1

a = 1 −1

a = 0

https://dl.doubtnut.com/l/_bTAxdyddEhbp
https://dl.doubtnut.com/l/_aC0MQAdiHOQO


Answer: D

Watch Video Solution

12. Joint equation of two lines through (2,-3)

perpendicular to two lines  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3x2 + xy − 2y2 = 0

2x2 + xy − 3y2 − 5x − 20y = 25 = 0

−2x2 − xy + 3y2 − 5x − 20y − 25 = 0

3x2 + xy − 2y2 − 5x − 20y − 25 = 0

3x2 − xy + 2y2 + 5x − 20y − 25 = 0

https://dl.doubtnut.com/l/_aC0MQAdiHOQO
https://dl.doubtnut.com/l/_OMFGwYphleQ7


13. The pair of straight lines passing through that point

 and perpendicular to the pair of straight lines 

, is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(1, 2)

3x2 − 8xy + 5y2 = 0

(5x + 3y + 11)(x + y + 3) = 0

(5x + 3y − 11)(x − y − 3) = 0

(3x + 5y − 11)(x + y + 3) = 0

(3x − 5y + 11)(x + y − 3) = 0

https://dl.doubtnut.com/l/_OMFGwYphleQ7
https://dl.doubtnut.com/l/_UheW7156W9Pv
https://dl.doubtnut.com/l/_qevNVOGIH3nJ


14. If one of the lines is given by 

si  then value of  is

A. 1

B. 3

C. 4

D. 2

Answer: C

Watch Video Solution

kx2 − 5xy − 6y2 = 0

4x + 3y = 0 k

15. If the pairs of lines 
 and 


 have exactly one line in common,

x2 + 2xy + ay2 = 0

ax2 + 2xy + y2 = 0

https://dl.doubtnut.com/l/_qevNVOGIH3nJ
https://dl.doubtnut.com/l/_llTmv0An1Ric


then the joint equation of the other
two lines is given

by
 





A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3x2 + 8xy − 3y2 = 0 3x2 + 10xy + 3y2 = 0

y2 + 2xy − 3x2 = 0 x2 + 2xy − 3y2 = 0

3x2 + 8xy − 3y2 = 0

3x2 + 10xy + 3y2 = 0

y2 + 2xy − 3x2 = 0

x2 + 2xy − 3y2 = 0

https://dl.doubtnut.com/l/_llTmv0An1Ric


16. If one of the lines represented by the equation

 is coincident with one of the

lines represented by  , then

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ax2 + 2hxy + by2 = 0

a' x2 + 2h' xy + b' y2 = 0

(ab' + a' b)2 = 4(ah' − a' h)(hb' − h' b)

(ab' + a' b)2 = 4(ah' − a' h)(hb' − h' b)

(ab' − a' b)2 = (ah' − a' h)(hb' − h' b)

(a' b' − ab)2 = (ah − a' h' )(hb − h' b' )

https://dl.doubtnut.com/l/_6XMtwthKMgmb


17. If the sum of the slopes of the lines represented by

the equation  be 4 then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 − 2xy tan A − y2 = 0

∠A =

0∘

45∘

60∘

tan− 1( − 2)

https://dl.doubtnut.com/l/_tJumvBepEuyr


18. If slope of one of the lines  is

5 times the slope of the other then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ax2 + 2hxy + by2 = 0

5h2 =

ab

2ab

7ab

9ab

https://dl.doubtnut.com/l/_u4ErkFlJSniN


19. The condition that the gradient of one line is twice

is gradient of another line represented by the equation

 is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

ax2 + 2hx + by2 = 0

ab =
8b2

9

ab = h2

h2 + ab = 0

h = a + b

https://dl.doubtnut.com/l/_YnxwB0AcwDKQ


20. If the slope of one of the lines represented by the

equation , is  that of the other

, then

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ax2 + 2hxy + by2 = 0 λ

4λh = ab(1 + λ)

λh = ab(1 + λ)2

4λh2 = ab(1 + λ)2

4 = abh(1 + λ2)

https://dl.doubtnut.com/l/_EoTwSRjpJ9yN


21. If the slope of one of the lines represented by

 be the square of the other,

then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ax2 + 2hxy + by2 = 0

+ =
a + b

h

8h2

ab

a2b + ab2 − 6abh + 8h3 = 0

a2b + ab2 + 6abh + 8h3 = 0

a2b + ab2 − 3abh + 8h3 = 0

a2b + ab2 − 6abh − 8h3 = 0

https://dl.doubtnut.com/l/_pFQdPLcPjx5X


22. If  are slopes of lines represented by 

 then equation of lines passing

through origin with slopes  will be

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

m1, m2

2x2 − 5xy + 3y2 = 0

,
1

m1

1

m2

3x2 − 5xy + 2y2 = 0

3x2 + 5xy + 2y2 = 0

2x2 + 5xy − 3y2 = 0

2x2 − 5xy − 3y2 = 0

https://dl.doubtnut.com/l/_zaf8JB5DdHCD


23. If two lines  are equally

inclined with co-ordinate axes, then

A.  and 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ax2 + 2hxy + by2 = 0

h = 0 ab < 0

a = b

a = ± b

ab > 0, h = 0

https://dl.doubtnut.com/l/_SSok5yl73jF1


24. Difference of slopes of the lines represented by the

equation 

 is 


(A)  

(B)  

(C)  

(D) None of these

A. 4

B. 3

C. 2

D. None of these

Answer: C

x2(sec2 θ − sin2 θ) − 2xy tan θ + y2 sin2 θ = 0

4

3

2

https://dl.doubtnut.com/l/_6AIJ7vYcJGRN


Watch Video Solution

25. The difference of the tangents of the angles, which

the lines 

make with the X-axis, is

A. 1

B. 2

C. 3

D. 4

Answer: B

View Text Solution

(tan2 α + cos2 α)x2 − 2xy tan nα + sin2 αy2 = 0

https://dl.doubtnut.com/l/_6AIJ7vYcJGRN
https://dl.doubtnut.com/l/_1FwGfGlNnjiv


View Text Solution

26. The equation of the pair of straight lines, each of

which makes an angle  with the line  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

α y = x

x2 + 2xy sec 2α + y2 = 0

x2 + 2xy cos ec2α + y2 = 0

x2 − 2xy cos ec2α + y2 = 0

x2 − 2xy sec 2α + y2 = 0

https://dl.doubtnut.com/l/_1FwGfGlNnjiv
https://dl.doubtnut.com/l/_mGV0iKRwc62b


27. If the line given by  are

equally inclined to the co-ordinate axes, then

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ax2 + 2hxy + by2 = 0

a + b = 2|h|

a + b = − 2h

a − b = 2|h|

(a − b)2 = 4h2

https://dl.doubtnut.com/l/_UYKcN4mgvHoe


28. One of the lines represented by the equation

 bisects an angle between the co-

ordinate axes

A. a,b,c are in AP

B. a,b,c are in G.P.

C. a,b,c are in H.P

D. 

Answer: D

Watch Video Solution

ax2 + bxy + cy2 = 0

a + b + c = 0

https://dl.doubtnut.com/l/_MRgwW5vSiQEG


29. If the equation  has one line

as the bisector of angle between the co-ordinate axes

then

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

ax2 + 2hxy + by2 = 0

(a − b)2 = h2

(a + b)2 = h2

(a − b)2 = 4h2

(a + b)2 = 4h2

https://dl.doubtnut.com/l/_RYVcxJA8SVjL


30. If the lines represented by the equation

 make angles  and  with X-axis,

then  is equal to

A. 0

B. 

C. 

D. 

Answer: D

Watch Video Solution

2x2 − 3xy + y2 = 0 α β

cot2 α + cot2 β

3

2

7
4

5

4

https://dl.doubtnut.com/l/_BlMZAZvs8koW


31. If the lines represented by the equation

 make angles  and  with the X-

axis, then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ax2 − bxy − y2 = 0 α β

tan(α + β) =

b

1 + a

−b

1 + a

a

1 + b

b

1 − a

https://dl.doubtnut.com/l/_rEOIMBtCG8nU


32. If the acute angle between the lines

 is , then show that 

.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ax2 + 2hxy + by2 = 0 60∘

(a + 3b)(3a + b) = 4h2

30∘

45∘

60∘

tan− 1 1

2

https://dl.doubtnut.com/l/_0M37WcCzvG61


33. Find the angle between the lines repersented by

the equation 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 − 2pxy + y2 = 0

sec− 1 p

cos − 1 p

tan− 1 p

sin− 1 p

https://dl.doubtnut.com/l/_ipbzLNA5Pp5q


34. The angle between the lines represented by the

equation  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(x2 + y2)sin θ + 2xy = 0

θ

θ

2

− θ
π

2

−
π

2

θ

2

https://dl.doubtnut.com/l/_uwKmdKQFt6jN


35. The angle between the lines represented by the

equation  will be  if

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ax2 + xy + by2 = 0 45∘

a = 1, b = 6

a = 1, b = − 6

a = 6, b = 1

a = 1, b = 1

https://dl.doubtnut.com/l/_rftMo66o9VjM


36. If the angle between the lines represented by the

equation , then K is

equal to

A. 0

B. 1

C. 2

D. 

Answer: A

Watch Video Solution

y2 + kxy − x2 tan2 A = 0is2A

tan A

https://dl.doubtnut.com/l/_CZkgh61PumQ2


37. If acute angle between lines 

is congruent to that between lines

 and 

then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ax2 + 2hxy + by2 = 0

2x2 − 5xy + 3y2 = 0 k(h2 − ab) = (a + b)2

k =

−(10)2

( − 10)2

−10

10

https://dl.doubtnut.com/l/_t3CxDLCpXwEr
https://dl.doubtnut.com/l/_YT3L5ghVDAYA


38. If the acute angle between the pairs of lines

 and  be 

and  respectively, then 


(A)  


(B)  


(C)  


(D) None of these

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3x2 − 7xy + 4y2 = 0 6x2 − 5xy + y2 = 0 θ1

θ2

θ1 = θ2

θ1 = 2θ2

2θ1 = θ2

θ1 = θ2

θ1 = 2θ2

2θ1 = θ2

θ1 = θ2
2

1

2

https://dl.doubtnut.com/l/_YT3L5ghVDAYA


Watch Video Solution

39. The lines  will be

coincident , if

A.  or 

B.  or 

C.  or 

D. 

Answer: A

Watch Video Solution

a2x2 + bcy2 = a(b + c)xy

a = 0 b = c

a = b a = c

c = 0 a = b

a = b + c

https://dl.doubtnut.com/l/_YT3L5ghVDAYA
https://dl.doubtnut.com/l/_Fuic5ESl7yVA


40. If the lines

 are mutually

perpendicular , then

A. 

B. 

C. 

D. p and q may have any value

Answer: D

Watch Video Solution

(p − q)x2 + 2(p + q)xy + (q − p)y2 = 0

p = q

q = 0

p = 0

https://dl.doubtnut.com/l/_7gWWkdxlcLyb


41. The two lines represented by


 are perpendicular to

each other for
two values of 
 (b) a
 for one value of 

(d) for no values of 

A. two values of a

B.  a

C. one value of a

D. no value of a

Answer: A

Watch Video Solution

3ax2 + 5xy + (a2 − 2)y2 = 0

a a

a

∀

https://dl.doubtnut.com/l/_otbce0yiDOQS
https://dl.doubtnut.com/l/_FOTTZrw9E5HL


42. The angle between the lines given by the equation

 is same as the angle

between the lines

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

αy2 + (1 − α2)xy − αx2 = 0

5x2 + 2xy − 3y2 = 0

5x2 + 16xy + 5y2 = 0

xy = 0

x2 − 2xy − 3y2 = 0

https://dl.doubtnut.com/l/_FOTTZrw9E5HL


43. If the equation 

represents a pair of lines then

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ax2 + ay2 + 2gx + 2fy + c = 0

g2 + f 2 =
1

2

f 2 − g2 = 1

f 2 + g2 = 1

g2 − f 2 = 0

https://dl.doubtnut.com/l/_hQTaaSsWNDAQ


44. If the equation 

represents a pair of straight lines , then

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ax2 + by2 + cx + cy = 0

a(b + c) = 0

b(c + a) = 0

c(a + b) = 0

a + b + c = 0

https://dl.doubtnut.com/l/_YYCm5KiO6BjG


45. If the equation  represents

a pair of straight lines, then

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

hxy + gx + fy + c = 0

fh = cg

fg = ch

h2 = gf

fgh = c

https://dl.doubtnut.com/l/_sn0XOrlGuCzK


46. The angle between the pair of straight lines

 is 


(A)  

(A)  

(A)  

(D) 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2x2 + 5xy + 2y2 + 3x + 3y + 1 = 0

cos − 1( )
4
5

tan− 1( )
4
5

π

2

0

cos − 1( )
4
5

tan− 1( )
4
5

0

π

2

https://dl.doubtnut.com/l/_iUNtwMmrFRBp


Watch Video Solution

47. If the angle between the pair of straight lines

represented by the equation

 is , where 

 is a non -negative real number, then 

A. 2

B. 0

C. 3

D. 1

Answer: A

Watch Video Solution

x2 − 3xy + λy2 + 3x − 5y + 2 = 0 tan− 1 3

λ λ =

https://dl.doubtnut.com/l/_iUNtwMmrFRBp
https://dl.doubtnut.com/l/_nbxxFIzmMnYh


48. If the angle between the two lines given by

 is , then

the contsntant a,b,h,g,f,c are related by

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ax2 + 2hxy + by2 + 2gx + 2fy + c = 0
π

4

a2 + 6ab + 4b2 = 4h2

abc + 2fgh − af 2 − bg2 − ch2 = 0

a2 − ab + b2 = h2

a2 + 6ab + b2 = 4h2

https://dl.doubtnut.com/l/_nbxxFIzmMnYh
https://dl.doubtnut.com/l/_LU8hyG4yzJEz


49. The equation 

where  is a real number, represents a pair of straight

lines. If  is the angle between the lines, then

A. 3

B. 9

C. 10

D. 100

Answer: C

Watch Video Solution

x2 − 3xy + λy2 + 3x − 5y + 2 = 0

λ

θ

cos ec2θ =

https://dl.doubtnut.com/l/_W3AjHuSVt60L
https://dl.doubtnut.com/l/_xFuyT92Ngx3T


50. Lines represented by  are

A. coincident

B. parallel but not coincident

C. not parallel

D. perpendicular

Answer: B

Watch Video Solution

9x2 + y2 + 6xy − 4 = 0

51. The equation

 represents a

circle if

ax2 + 2hxy + by2 + 2gx + 2fy + c = 0

https://dl.doubtnut.com/l/_xFuyT92Ngx3T
https://dl.doubtnut.com/l/_tn7bZS3n419k


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ag2 = bf 2

a2g = b2f

bg2 = af 2

b2f = a2f

52. Equation  represents a pair

of perpendicular straight lines if

A. 

B. 

x2 + k1y2 + 2k2y = a2

k1 = 1, k2 = a

k1 = 1, k2 = − a

https://dl.doubtnut.com/l/_tn7bZS3n419k
https://dl.doubtnut.com/l/_6Qu636DxEEJl


C. 

D. 

Answer: C

Watch Video Solution

k1 = − 1, k2 = ± a

k1 = 1, k2 = ± a

53. The equation

 represents a

pair of perpendicular lines if

A. 

B. 

C. 

(x2 + y2)(h2 + k2 − a2) = (hx + ky)2

h2 + k2 = 2a2

(h + k)(h − k) = 2a2

h2 + k2 = a2

https://dl.doubtnut.com/l/_6Qu636DxEEJl
https://dl.doubtnut.com/l/_XNGmgefpF2f4


D. 

Answer: A

Watch Video Solution

h2 + k2 = 0

54. The equation 

will represent two mutually perpendicular straight

lines , if

A.  and  or 6

B.  and  or 6

C.  and  or 8

D.  and  or 8

2x2 + 4xy − py2 + 4x + qy + 1 = 0

p = 1 q = 2

p = 2 q = 0

p = 2 q = 0

p = − 2 q = − 2

https://dl.doubtnut.com/l/_XNGmgefpF2f4
https://dl.doubtnut.com/l/_zM6y3G1JyQGl


Answer: C

Watch Video Solution

55. If  represents

a pair of perpendicular lines then

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

12x2 + 7xy + by2 + gx + 7y − 1 = 0

b = 12, g = 1

b = − 12, g = 1

b = − 12, g = − 1

b = − 12, g = −
1

2

https://dl.doubtnut.com/l/_zM6y3G1JyQGl
https://dl.doubtnut.com/l/_HcWyBbtKKD8z


56. If the equation

 represents a

pair of perpendicular straight lines, then

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

12x2 + 7xy − py2 − 18x + qy + 6 = 0

−1, 2

1, − 2

1,
−23

2

−1,
23

2

https://dl.doubtnut.com/l/_HcWyBbtKKD8z
https://dl.doubtnut.com/l/_QNnS9euZtEaZ
https://dl.doubtnut.com/l/_DnS2Ya8wjNVK


57. If two sides of a triangle are represented by

 and the centroid is  then the

equation of third side is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 _ 7xy + 6y2 = 0 (1, 0)

2x + 7y + 3 = 0

2x − 7y + 3 = 0

2x + 7y − 3 = 0

2x − 7y − 3 = 0

https://dl.doubtnut.com/l/_DnS2Ya8wjNVK


Competitive Thinking

58. The lines  and 

 forms

A. an isosceles triangle

B. a right angled triangle

C. an equilateral triangle

D. an obtuse triangle

Answer: C

Watch Video Solution

(lx + my)2 − 3(mx − ly)2 = 0

lx + my + n = 0

https://dl.doubtnut.com/l/_prs5sBTeuWgq
https://dl.doubtnut.com/l/_AJckxlMp5f9y


1. The joint equation of the straight lines 

and , is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x + y = 1

x − y = 4

x2 − y2 = − 4

x2 − y2 = 4

(x + y − 1)(x − y − 4) = 0

(x + y + 1) = (x − y + 4) = 0

2. The joint equation of pair of lins through origin, each

of which makes an angles of  with Y-axis is60∘

https://dl.doubtnut.com/l/_AJckxlMp5f9y
https://dl.doubtnut.com/l/_kMWqhALVaBJ6


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 − 3y2 = 0

x2 + 3y2 = 0

3x2 − y2 = 0

3x2 + y2 = 0

3. The joint equation of lines passing through the

origin and trisecting the first quadrant is

A. 

B. 

x2 + √3xy − y2 = 0

x2 − √3xy − y2 = 0

https://dl.doubtnut.com/l/_kMWqhALVaBJ6
https://dl.doubtnut.com/l/_bqa9YasAl4lV


C. 

D. 

Answer: C

Watch Video Solution

√3x2 − 4xy + √3y2 = 0

3x2 − y2 = 0

4. The joint equation of bisectors of angles between

lines  and  is

A. 

B. 

C. 

D. 

x = 5 y = 3

(x − 5)(y − 3) = 0

x2 − y2 − 10x + 6y + 16 = 0

xy = 0

xy − 5x − 3y + 15 = 0

https://dl.doubtnut.com/l/_bqa9YasAl4lV
https://dl.doubtnut.com/l/_DMlilR9zKr67


Answer: B

Watch Video Solution

5. Let PQR be a right - angled isosceles triangle , right

angled at P(2,1). If the equation of the line QR is

, then the equation representing the pair of

lines PQ and PR is

A. 

B. 

C. 

D. 

2x + y = 3

3x2 − 3y2 + 8xy + 20x + 10y + 25 = 0

3x2 − 3y2 + 8xy − 20x − 10y + 25 = 0

3x2 − 3y2 + 8xy + 10x + 15y + 20 = 0

3x2 − 3y2 − 8xy − 10x − 15y − 20 = 0

https://dl.doubtnut.com/l/_DMlilR9zKr67
https://dl.doubtnut.com/l/_JSHekNfsgmvk


Answer: B

Watch Video Solution

6. The equation  represents

A. Circle

B. Pair of parallel straight lines

C. pair of perpendicular straight lines

D. Pair of non-perpendicular intersecting straight

lines

Answer: D

Watch Video Solution

x2 − 7xy − y2 = 0

https://dl.doubtnut.com/l/_JSHekNfsgmvk
https://dl.doubtnut.com/l/_sDhVt0dfvJpr


Watch Video Solution

7. The equation

 represents

A. Circle

B. pair of straight lines

C. parabola

D. Ellipse

Answer: B

Watch Video Solution

√(x − 2)2 + y2 + √(x + 2)2 + y2 = 4

https://dl.doubtnut.com/l/_sDhVt0dfvJpr
https://dl.doubtnut.com/l/_0ydu8CmAAlMY


8. Joint equation of pair of lines through  and

parallel to  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(3, − 2)

x2 − 4xy + 3y2 = 0

x2 − 4xy + 3y2 − 14x + 24y + 45 = 0

x2 − 4xy − 3y2 − 14x − 24y − 45 = 0

3x2 + 4xy + y2 + 14x − 24y − 45 = 0

3x2 + 4xy + y2 − 14x − 24y + 45 = 0

https://dl.doubtnut.com/l/_3SkOLTvOB6ag


9. Combined equation of lines perpendicular to

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

5x2 + 3xy − 2y2 = 0

2x2 + 3xy + 5y2 = 0

2x2 + 3xy − 5y2 = 0

2x2 − 3xy + 5y2 = 0

2x2 − 3xy − 5y2 = 0

https://dl.doubtnut.com/l/_lD3VF4uXBoMK


10. The equation to the pair of straight lines passing

through  and perpendicular to the pair of lines 

 is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(2, 1)

4xy + 2x + 6y + 3 = 0

xy + x + 2y − 6 = 0

xy − x + 2y − 2 = 0

xy + x − 2y − 2 = 0

xy − x − 2y + 2 = 0

https://dl.doubtnut.com/l/_A8nIAADhssSj


11. O(0,0), A(1,2), B(3,4) are the vertices of . The

joint equation of the altitude and median drawn from

O is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ΔOAB

x2 + 7xy − y2 = 0

x2 + 7xy + y2 = 0

3x2 − xy − 2y2 = 0

3x2 + xy − 2y2 = 0

https://dl.doubtnut.com/l/_Hr0J43fynYHe


12. The equation to a pair of opposite sides of a

parallelogram are 
 and 
 .

The equations to its diagonals
 are


(b) 


(d)


A.  and 

B.  and 

C.  and 

D.  and 

Answer: C

Watch Video Solution

x2 − 5x + 6 = 0 y2 + 5 = 0

x + 4y = 13, y = 4x − 7 4x + y = 13, 4y = x − 7

4x + y = 13, y = 4x − 7 y − 4x = 13, y + 4x − 7

x + 4y = 13 y = 4x − 7

4x + y = 13 4y = 4x − 7

4x + y = 13 y = 4x − 7

y − 4x = 13 y + 4x = 7

https://dl.doubtnut.com/l/_sgXr2x6lbRDj


13. If  represents two sides of a

parallelgram and  is one of its

diagonals then the other diagonals is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2x2 + 3xy − 2y2 = 0

3x + y + 1 = 0

x − 3y + 1 = 0

x − 3y + 2 = 0

x − 3y = 0

3x − y = 0

https://dl.doubtnut.com/l/_UK5RaJB3CIQI


14. If one of the lines represented by the equation

 be  then

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ax2 + 2hxy + by2 = 0 y = mx

bm2 + 2hm + a = 0

bm2 + 2hm + a = 0

am2 + 2hm + b = 0

bm2 − 2hm + a = 0

https://dl.doubtnut.com/l/_J6Sf5Wy3lbyO


15. If one of the lines given by  is 

, then 

A. 3

B. -1

C. 1

D. -3

Answer: D

Watch Video Solution

6x2 − xy + 4cy2 = 0

3x + 4y = 0 c =

https://dl.doubtnut.com/l/_ekT8FIIQ9yhc


16. If one of the lines given by  is

perpendicular to the line , then k=

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

kx2 − 5xy − 3y2 = 0

x − 2y + 3 = 0

2

−
11

2

−
2

3

3

https://dl.doubtnut.com/l/_F9RE4Y7ZVBC0


17. If one of the two lines  coincides

with one of the two lines  ten

A. 

B. 

C. 2

D. 4

Answer: A

Watch Video Solution

6x2 + xy − y2 = 0

3x2 − axy + y2 = 0

1

2

1

https://dl.doubtnut.com/l/_HuPDUOYxKKLL


18. If the equation  represented

two lines  and  the

A.  and 

B.  and 

C.  and 

D.  and 

Answer: A

Watch Video Solution

ax2 + 2hxy + by2 = 0

y = m1x y = m2x

m1 + m2 =
−2h

b
m1m2 =

a

b

m1 + m2 =
2h

b
m1m2 =

−a

b

m1 + m2 =
2h

b
m1m2 =

a

b

m1 + m2 =
2h

b
m1m2 = − ab

https://dl.doubtnut.com/l/_KfkngRGoyX3U


19. The sum of the slopes of the lines given by

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3x2 + 5xy − 2y2 = 0

5

2

−
3

2

−
5

2

1

2

https://dl.doubtnut.com/l/_tLOUk5Hj5fhf


20. If the sum of slopes of the pair of lines represented

by  si equal to the product of

the slopes, then the value of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

4x2 + 2hxy − 7y2 = 0

h

−6

−2

−4

4

https://dl.doubtnut.com/l/_5m2wxjyO2KJB


21. if the sum of the slopes of the lines given by

 is four times their product then

c has the value?

A. -2

B. -1

C. 2

D. 1

Answer: C

Watch Video Solution

x2 − 2cxy − 7y2 = 0

https://dl.doubtnut.com/l/_n24CJX7Nbt1a


22. If the slope of one of the lines represented by

 is twice the other, then a is equal

to

A. 1

B. 2

C. 4

D. 8

Answer: D

Watch Video Solution

ax2 + 6xy + y2 = 0

https://dl.doubtnut.com/l/_ax3du88v09nx


23. If the gradient of one of the lines given by

 is twice that of the other, then h =

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + hxy + 2y2 = 0

±3

±
3

2

±2

±1

https://dl.doubtnut.com/l/_7o1b73SLMGLb


24. If the slope of one of the lines given by

 is two times the other, then

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ax2 + 2hxy + by2 = 0

8h2 = 9ab

8h2 = 9ab2

8h = 9ab

8h = 9ab2

https://dl.doubtnut.com/l/_f6Feprj0GZTu


25. If slopes of lines represented by

 differ by 1, then k=

A. 2

B. 3

C. 6

D. 8

Answer: C

Watch Video Solution

kx2 + 5xy + y2 = 0

https://dl.doubtnut.com/l/_Pw11EvJ9TpRg


26. If the ratio of gradients of the line given by

 is , then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ax2 + 2hxy + by2 = 0 1: 3 h2 : ab =

1

3

3

4

4
3

1

https://dl.doubtnut.com/l/_RT9u0ZG7PlMB


27. if  represent pair of straight

lies and slope one line is twice the other line then

.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

+ + = 0
X2

a

y2

b

2xy

h

ab : h2

9: 8

8: 9

1: 2

2: 1

https://dl.doubtnut.com/l/_zJSeHtiNYwZL


28. The angle between the straight lines

, is

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

x2 − y2 − 2x − 1 = 0

30∘

45∘

60∘

https://dl.doubtnut.com/l/_TZglAQWG6rZ5


29. Acute angle between the lines represented by

 is 


(A)  (B)  


(C) 
(D) None of these

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

(x2 + y2)√3 = 4xy

π

6

π

4
π

3

π

6

π

4

π

3

https://dl.doubtnut.com/l/_HWpeiy8mMc8f
https://dl.doubtnut.com/l/_AaL9fy15Kizs


30. The angle between the pair of straight lines

 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + 4y2 − 7xy = 0

tan1( )
1

3

tan− 1(3)

tan− 1( )
√33

5

tan− 1( )
√33

10

31. The angles between the lines represented by the

equation  are4x2 − 24xy + 11y2 = 0

https://dl.doubtnut.com/l/_AaL9fy15Kizs
https://dl.doubtnut.com/l/_F9GEsAkTV1OS


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

tan− 1 , tan− 1( − )
3

4

3

4

tan− 1 , tan− 1( − )
1

3

1

3

tan− 1 , tan− 1( − )
4
3

4
3

tan− 1 , tan− 1( − )
1

2

1

2

32. The angle between the lines

 is

A. 

B. 

x2 + 2xy sec θ + y2 = 0

2θ

3θ

https://dl.doubtnut.com/l/_F9GEsAkTV1OS
https://dl.doubtnut.com/l/_HwnTiVrDUiMX


C. 

D. 

Answer: C

Watch Video Solution

θ

θ

2

33. The equation 

represent the sides of

A. equilateral triangle

B. right angled triangle

C. isosceles triangle

x − y = 4 and x2 + 4xy + y2 = 0

https://dl.doubtnut.com/l/_HwnTiVrDUiMX
https://dl.doubtnut.com/l/_h7rCogLMQ17T


D. ordinary triangle with none of the above

properties

Answer: A

Watch Video Solution

34. The lines represented by the equation

 and  form

A. an isosceles triangle

B. a right angled triangle

C. an equilateral triangle

D. a scalene triangle

23x2 − 48xy + 3y2 = 0 2x + 3y + 4 = 0

https://dl.doubtnut.com/l/_h7rCogLMQ17T
https://dl.doubtnut.com/l/_5EyiTyUzzsJ7


Answer: C

View Text Solution

35. The nature of straight lines represented by the

equation  is

A. Real and coincident

B. Real and different

C. Imaginary and different

D. None of the above

Answer: A

Watch Video Solution

4x2 + 12xy + 9y2 = 0

https://dl.doubtnut.com/l/_5EyiTyUzzsJ7
https://dl.doubtnut.com/l/_kTPTBDGMZew2


36. The equation  represents two

coincident lines if 

A. 0

B. 1

C. 4

D. 16

Answer: C

Watch Video Solution

x2 + ky2 + 4xy = 0

k =

https://dl.doubtnut.com/l/_kTPTBDGMZew2
https://dl.doubtnut.com/l/_WJ8su9zWktOl


37. if lines represented by equation  are

distinct, then

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

px2 − qy2 = 0

pq > 0

pq < 0

pq = 0

p + q = 0

https://dl.doubtnut.com/l/_fpASit9sz3v6


38. The angle between the pair of straight lines

 is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

y2 sin2 θ − xy sin2 θ + x2(cos2 θ − 1) = 0

π

3

π

4

π

6

π

2

https://dl.doubtnut.com/l/_NNQPeUqusYBw


39. Which of the following equation does not represent

a pair of lines ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 − x = 0

xy − x = 0

y2 − x + 1 = 0

xy + xy + 1 = 0

https://dl.doubtnut.com/l/_iKJuEf0u4Tag


40. The angle between the lines

 is given by

A. Pair of straight line

B. Ellipse

C. Hyperbola

D. Circle

Answer: A

Watch Video Solution

3x2 + 7xy + 2y2 + 5x + 5y + 2 = 0

41. The equation  representsxy + a2 = a(x + y)

https://dl.doubtnut.com/l/_ZTyhMrpyAfZO
https://dl.doubtnut.com/l/_yM98rYSlNrWI


A. a parabola

B. a pair of straight lines

C. an ellipse

D. two parallel straight lines

Answer: B

Watch Video Solution

42. If  represents a pair off

lines then 

A. -16

B. 16

ax2 − y2 + 4x − y = 0

a =

https://dl.doubtnut.com/l/_yM98rYSlNrWI
https://dl.doubtnut.com/l/_cNPpkYUNoAEa


C. 4

D. -4

Answer: B

Watch Video Solution

43. If the equation 

represents a pair of lines then : 

A. 0,18

B. 0,16

C. 0,15

D. 0,20

kxy + 10x + 6y + 4 = 0

k =

https://dl.doubtnut.com/l/_cNPpkYUNoAEa
https://dl.doubtnut.com/l/_sOjU5Aoymvfw


Answer: C

Watch Video Solution

44. The equation 

represents a pair of straight lines, then  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + kxy + y2 − 5x − 7y + 6 = 0

k

5

3

10

3

3

2

3

10

https://dl.doubtnut.com/l/_sOjU5Aoymvfw
https://dl.doubtnut.com/l/_tpj53YgiDJwv


45. The point of intersection of lines represented by

 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 − y2 + x + 3y − 2 = 0

(1, 0)

(0, 2)

( − , )
1

2

3

2

( , )
1

2

1

2

https://dl.doubtnut.com/l/_tpj53YgiDJwv
https://dl.doubtnut.com/l/_u9UPlztPXVGs


46. If 

represents a pair of straight lines, then point of

intersection of those lines is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2x2 − 10xy + 2λy2 + 5x − 16y − 3 = 0

(2, − 3)

(5, − 16)

( − 10, )
−7
2

( − 10, )
−3

2

https://dl.doubtnut.com/l/_YbMPZwgnPMOI


47. Let L be the line joining the origin to the point of

intersection of the lines represented by

. If L is perpendicular

to the line  then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2x2 − 3xy − 2y2 + 10x + 5y = 0

kx + y + 3 = 0 k =

1

2

−1

2

−1

1

3

https://dl.doubtnut.com/l/_GMo5bvyGbS26
https://dl.doubtnut.com/l/_hbmntpDWG5qN


48. The line  coincides with one of the

lines given by , then the

value of k is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

5x + y − 1 = 0

5x2 + xy − kx − 2y + 2 = 0

−11

31

11

−31

https://dl.doubtnut.com/l/_hbmntpDWG5qN


49. The angle between the lines

 is given by

A. 0

B. 

C. 

D. 

Answer: C

Watch Video Solution

3x2 + 7xy + 2y2 + 5x + 5y + 2 = 0

π /2

π /4

π /6

https://dl.doubtnut.com/l/_cGzJq22I0dmL


50. The angle between the lines in

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 − xy − 6y2 − 7x + 31y − 18 = 0

30∘

45∘

60∘

90∘

https://dl.doubtnut.com/l/_ha11m5MHwcQu


51. If the angle between the pair of straight lines

represented by the equation

 is , where 

 is a non -negative real number, then 

A. 2

B. 0

C. 3

D. 1

Answer: B

Watch Video Solution

x2 − 3xy + λy2 + 3x − 5y + 2 = 0 tan− 1 3

λ λ =

https://dl.doubtnut.com/l/_N8p78WphGt76
https://dl.doubtnut.com/l/_9NCfR49Km3K7


52. If the angle between the two lines represented by

 is ,

then m is equal to

A. 

B. 1

C. 

D. 

Answer: A

Watch Video Solution

2x2 + 5xy + 3y2 + 6x + 7y + 4 = 0 tan− 1(m)

1

5

7
5

7

https://dl.doubtnut.com/l/_9NCfR49Km3K7


53. The acute angle formed between the lines joining

the origin to the points of intersection of the curves

 and , is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 − 2x − 1 = 0 x + y = 1

tan− 1( − )
1

2

tan− 1 2

tan− 1 1

2

60∘

https://dl.doubtnut.com/l/_npCox5Dr1Q54


54. The straight lines joining the origin to the points of

intersection of the line  and curve 

 include an angle:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2x + y = 1

3x2 + 4xy − 4x + 1 = 0

π

2

π

3

π

4

π

6

https://dl.doubtnut.com/l/_CfOe31i4Z1Ox


55. If the lines joining the origin and the point of

intersection of curves


and 
 are mutually

perpendicular, then prove that 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ax2 + 2hxy + by2 + 2gx + 0

a1x2 + 2h1xy + b1y2 + 2g1x = 0

g(a1 + b1) = g1(a + b).

ag + a1g1 = bg + b1g1

a + b = gg1(a1 + b1)

g(a1 + b1) = g1(a + b)

g(a + b) = g1(a1 + b1)

https://dl.doubtnut.com/l/_msK4lowGUwQi
https://dl.doubtnut.com/l/_mIzABOXptKeJ


56. The pair of straight lines joining the origin to the

points of intersection of the line  and

the circle 1 are at right angles , if

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y = 2√2x + c

x2 + y2 = 2

c2 − 4 = 0

c2 − 8 = 0

c2 − 9 = 0

c2 − 10 = 0

https://dl.doubtnut.com/l/_mIzABOXptKeJ


57. The orthocenter of the triangle formed by the lines

 and  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x + y = 1 2y2 − xy − 6x2 = 0

( , )
4
3

4
3

( , )
2

3

2

3

( , )
2

3

−2

3

( , )
4
3

−4
3

https://dl.doubtnut.com/l/_xZ1BjnYp2umo


Evaluation Test

58. Joint equation of the diagonals of the square

formed by the pairs of lines 

and , is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

xy + 4x − 3y − 12 = 0

xy − 3x + 4y − 12 = 0

x2 − 2xy + y2 + x − y = 0

x2 + 2xy + y2 + x + y + 0

x2 − y2 + x − y = 0

x2 − y2 + x + y = 0

https://dl.doubtnut.com/l/_ij1ixWnMd6d0


1. The combined equation of the line passing through

origin and perpendicular to  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2x2 − 7xy − 15y2 = 0

−15x2 − 7xy + 2y2 = 0

15x2 + 13xy + 2y2 = 0

15x2 − 7xy − 2y2 = 0

15x2 − 13xy + 2y2 = 0

https://dl.doubtnut.com/l/_T8scY1Aqgn7h


2. If , then the ratio of the slopes of the lines

represented by the equation 

will be 

(A)  


(B)  


(C)  


(D) 

A. 

B. 

C. 

D. 

Answer: D

4ab = 3h2

ax2 + 2hxy + by2 = 0

√2: 1

√3: 1

2: 1

1: 3

√2: 1

√3: 1

2: 1

1: 3

https://dl.doubtnut.com/l/_GuCosAlDqkkY


Watch Video Solution

3. The equation

 will

represents two real partall straight lines. if

A. 

B. 

C.  is any number

D. 

Answer: C

Watch Video Solution

4x2 + 12xy + 9y2 + 2gx + 2fy + c = 0

g = 4, f = 9, c = 0

g = 2, f = 9, c = 1

g = 2, f = 3, c

g = 4, f = 9, c > 1

https://dl.doubtnut.com/l/_GuCosAlDqkkY
https://dl.doubtnut.com/l/_ZfWO8Ba6xcr1


4. The value of  for which the equation

 represent a pair of straight

line, are

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

λ

x2 − y2 − x − λy − 2 = 0

3, − 3

−3, 1

3, 1

−1, 1

https://dl.doubtnut.com/l/_SL0FZ6z1R0aP


5. The acute angle between the lines represented by

 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + 2√2xy − y2 = 0

π

3

π

6

π

2

π

4

https://dl.doubtnut.com/l/_p3fcz4s8hfgD


6. Equation of pair of straight lines drawn through (1, 1)

and perpendicular to the pair of lines

, is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3x2 − 7xy + 2y2 = 0

2x2 + 7xy − 11x + 6 = 0

2(x − 1)2 + 7(x − 1)(y − 1) − 3y2 = 0

2(x − 1)2 + 7(x − 1)(y − 1) − 3(y − 1)2 = 0

2(x − 1)2 + 7(x − 1)(y − 1) + 3(y − 1)2 = 0

https://dl.doubtnut.com/l/_zQCx7JFtDNwS


7. The joint equation of the straight lines 

and  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x − y = 1

2x + y = 6

2x2 − y2 − xy − 4x + 7y − 6 = 0

2x2 − y2 − xy − 8x + 5y + 6 = 0

2x2 − y2 − xy + 4x − 7y − 6 = 0

2x2 − y2 − xy + 8x − 5y + 6 = 0

https://dl.doubtnut.com/l/_bsouiUBqWLOT


8. If the equation  has one line

as bisector of angle between the co-ordinate axes, then

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2x2 + 2hxy + 3y2 = 0

h =

−1

2

5

5

2

1

https://dl.doubtnut.com/l/_vLAhLZdr4mxM


9. If the equation 

represents a pair of straight lines then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3x2 − 2y2 + λxy − x + 5y − 2 = 0

λ =

−1

2

5

5

2

1

https://dl.doubtnut.com/l/_8bVsBKkHlN8j


10. If one of the lines given by the equation

 coincide with one of those given

by  and the other lines

represented by them be perpendicular, then

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

2z2 + axy + 3y2 = 0

2x2 + bxy − 3y2 = 0

a = − 5, b = 1

a = 5, b = − 1

a = 5, b = 1

https://dl.doubtnut.com/l/_6YYzTtTO98kN
https://dl.doubtnut.com/l/_ivG1YkwyLN0E


11. Acute angle between the lines represented by

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3x2 − 48xy + 23y2 = 0

π

3

π

6

π

2

π

4

https://dl.doubtnut.com/l/_ivG1YkwyLN0E

